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FULL MODEL ANSWERS

Q1. NON-CALCULATOR
The table shows information about the numbers of fruit trees in an orchard.

Apple tree Pear tree Plum tree

45 25
(a) The pictogram shows this information. Complete the key for the pictogram.
KPPl tree /\ /\ /\ /\ /\ /\ /\ /\ /\ Key: A represents 5 rees
Pear tree \ /\ /\ /\ m
Plum tree /\ /\ /\ /\ /\

= 1
(b) There are Qgﬁ:ﬁt\ t;eisC)in the orchard. §6C‘J° =90 =4 W
Apple tree Pear tree Plum tree
45 x & 20 x & 25 x &
30° RO’ 00"

Draw an accurate pie chart for this information.

(3)

(Total for question = 4 marks)
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Q2. NON-CALCULATOR
Year 9 students from Halle School were asked to choose one language to study.

The table shows information about their choices.

(a) Draw an accurate pie chart to show this information.
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| Language Number of students
French 56 X3 KS
Spanish 40 %3 12
German 24 x2 i
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Year 9 students from Lowry School were also asked to choose one language to study.

This accurate pie chart shows information about their choices.

(German

Spanish

French

Shameena says,

"The pie chart shows that French was chosen by more Year 9 students at Lowry School than at Halle
School."

(b) Is Shameena right?

You must explain your answer.
..Sha\um.e,ﬁﬁnczs.......w..cm ....... nat...... .’.\.(f‘.CﬁS.Sq.r.i.lj ......... COYIEEA e,
The . number.. £ Y. .n s ot Loy Schao)....comld.......
o an . eSS Yhan. the. YA Pufnlsn.-i-HOLHQ

(Total for question = 4 marks)
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Q3. NON-CALCULATOR

The pie charts show information about the favourite animal of each student at school A and of each student

at school B.
School A

School B

There are 480 students at school A. There are 760 students at school B.

Henry says,

X "The same number of students at each school have tigers as their favourite animal."
-
@ Is Henry correct?
© You must show how you get your answer.
S .
P Qﬂj\ﬁ Por Jrlﬁ&rs = 360-60
= 2
g“
0 = |50
ol
(1)
= Number _— 15ox o) \ Luoer
£ Reers 280 o0 N A0 x 760
o rs 3 .
9 of -}-\ﬂers 360
= 00O = 190

Hﬁmrj \ S uJ\rowf] _
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Q4. CALCULATOR ALLOWED
Joan asked each of 60 people to name their favourite vegetable. géoo+ 60 = A
Here are her results. d

Vegetahle Frequency
Peas 24 x4 = 4P
Carrots 16 % [~ = g6°
Mushrooms 20 X6 = (2O
Draw an accurate pie chart for her results.
.-a-"'f’f__ i s
i
/"’
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Carrots

(Total for question = 3 marks)
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Q5. CALCULATOR ALLOWED

Sharon asked each of her friends to name their favourite Olympic sport.

The table below shows information about their answers.

Sport Frequency
athletics 13 x
cycling 17 x
SWIMImning 8 x @
gymnastics | 7 %%
Draw an accurate pie chart for this information. TCS(RL: 4s

26045 =%

G‘jmnas hes

Sun mm;n\fj
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Q6. CALCULATOR ALLOWED

A group of football fans were asked what their half time snack was.

The table below gives information about their answers. %600‘:‘36 = i. O
Snack Number of fans
burger 11 x 10 [ =\ 0°
pie 17 x (O | =\ ,([_)o
hot dog 8 x 10| =30
TOTAL: 36

Draw an accurate pie chart for this information.

e o

/ Hor Boﬁ nge\i

(Total for question = 3 marks)
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Q7. CALCULATOR ALLOWED

60 students were asked how they get to school. The table shows the results.
Bus Walk Car Bicycle

Number of students 15 27 12 6

(a) What fraction of the 60 students did not walk to school?
60-27
60 i
= 33 €O e
60

(b) Complete the pie chart for the information in the table.

o ,
%60 - 60 mad f\ (Total for question = 6 marks)
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Q8. CALCULATOR ALLOWED
Rachel carried out a survey of 10 people to find out the type of fruit they like best.
The table gives information about her results.

Tvpe of fruit | Number of people
apple 2
banana 5
orange | 3

(a) Which type of fruit is the mode?
MOST ComMmon

................ anc&nfb\-
In Rachel's survey, 2 out of 10 people like apples best.
(b) Write 2 out of 10 as a percentage. 7 %D
100 L0 %

Pete also carried out a survey to find out the type of fruit people like best.
He asked 30 people which type of fruit they like best.
He drew this pie chart for his results.

Diagram
accurately drawn

orangc

156°

banana

A smaller proportion of people like bananas best in Pete's survey than in Rachel's survey.

(c) Explain how Pete's pie chart and Rachel's table show this.
i Rackels. sucves ,%P&a le.... L lsedh......bananas.......

*“4'\/145 ...... s ool VA Pedel Sw.’.b.’.ﬂ..%....l.ﬁi'i...?tl.’!@n ........ half......
ST cl.\.a,r.i'......I.s......(.eﬂfzmﬁ.ﬂ-.nh‘z\j ...... Y U

(Total for question = 4 marks)

MathsUpGrade-co-uk

HNn-03-apeJgonsyaell



MathsUpGrade-co-uk

Visit MathsUp6rade-co-Uk for Questions, Clues & Solutions
Q9. CALCULATOR ALLOWED

The bar chart gives information about the numbers of students in the four Year 11 classes at Trowton
School.

B boys
Number of ‘
students B il
11A 11B 11C 11D
Class
(a) What fraction of the students in class 11A are girls? \C IS
14+ 15 29

Shola says "There are more boys than girls in Year 11 in Trowton School."

(b) Is Shola correct? You must give a reason for your answer.

Grs. 1S+HU+7+5 = 3R
Ro\j‘g 4+ 12+ B 4= 38

Now.. There... owcﬂrtmal ..... Numoers.. of. bous. . and....
...@.i.r...\s.- ............................................................................................................................

The pie chart gives information about the 76 students in the same four Year 11 classes at Trowton School.

Number of students in Year 11 of Trowton School

11A boys
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Tolu says, "It is more difficult to find out the numbers of students in each class from the pie chart than from
the bar chart."

(c) Is Tolu com:ect’? You must give a reason for your answer
Ola s covreets.... SIne.... Thewe..ds..... no.....Total _given
£oc..the. s chark, . 0ks. mpmxb.lﬁ—....dn ...... fiod individual values,

(Total for question = 5 marks)
Q10. CALCULATOR ALLOWED

There are 240 students in Year 7 at a school.

The pie chart shows the proportion of boys and the proportion of girls in Year 7

Gir\S‘_ ﬂ‘x’ 260
240 - 113 _ 360
- 17 | \\ : I'l =
- | L | I_I.'? J g,lIIE | ] ]%

\/

There are 8 more girls in Year 8 than in Year 7
There are 32 fewer boys in Year 8 than in Year 7

Andy draws a pie chart to show the proportion of boys and the proportion of girls in Year 8
Work out the angle of the sector in Andy's pie chart that represents girls.
Gicls

'. P oy
=90 B+ B=176

JU

\ 77 -39
| A > L=

26 x26D
A0t 16

(Total for question = 4 marks)
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Q11. CALCULATOR ALLOWED

The pie charts give information about the ages, in years, of people living in two towns, Adley and Bridford.

__o-'-"-__'_ _\_\_"‘--\.\_\_‘_

T

AL’HE}' Q0+
\

\

\ =10

Diagrams
accurately
drawn

Bridford

The ratio of the number of people living in Adley to the number of people living in
Bridford is given by the ratio of the areas of the pie charts.

What proportion of the total number of people living in these two towns live in Adley
and are aged 0 — 19?7
Give your answer correct to 3 significant figures.
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(Depe..nds....m.....lacmﬁ. .Size)...

(Total for question = 3 marks)
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